
Report Computer
100 ms pulse train



Report Computer
Total time of pulse train is 21.75 ms.

The EUT provides two different length pulses.

The EUT provides a total of 2 long pulses and 11 shorter pulses



Report Computer
The large pulse on time is 640 us long

2 x 640 us = 1.28 ms
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The large pulse off time is 280 us long
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The small pulse on time is 320 us long

11 x 320 us = 3.52 ms
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The small pulse off time is 560 us long
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1.28 ms + 3.52 ms = 4.8 ms on-time of all pulses

Duty cycle = on-time (4.8 ms) / total time (21.75 ms) * 100

Duty cycle = 22.1 %


